NIVERSITY of CAMBRIDGE
nternational Examinations

Cambridge
International
AS & A Level

Cambridge Advanced




University of Cambridge International Examinations retains the copyright on all its publications. Registered
Centres are permitted to copy material from this booklet for their own internal use. However, we cannot
give permission to Centres to photocopy any material that is acknowledged to a third party even for internal

use within a Centre.

© University of Cambridge International Examinations 2012



Contents

1) 1eo Vo1 110 ] o PO SRR RTRRRTRP 2
ASSESSMENT AT @ GIANCE ....uviiiii e 3
P AT s 4



Introduction

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS and A
Level Economics (9708), and to show how different levels of candidates’ performance relate to the subject’s
curriculum and assessment objectives.

In this booklet a range of candidate responses has been chosen as far as possible to exemplify good,
average and weak answers. Each response is accompanied by a brief commentary explaining the strengths
and weaknesses of the answers.

For ease of reference the following format for each paper has been adopted:

C Question )
$
C Mark scheme )
$
CExampIe candidate )
response
$
CExaminer comment)

For Papers 2 and 4 each question is followed by an extract of the mark scheme used by examiners. This,
in turn, is followed by examples of marked candidate responses, each with an examiner comment on
performance. Comments are given to indicate where and why marks were awarded, and how additional
marks could have been obtained. In this way, it is possible to understand what candiates have done to gain
their marks and what they still have to do to improve their grades.

Past papers and Principal Examiner Reports for Teachers and other teacher support materials are available
on http://teachers.cie.org.uk
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Assessment at a glance

Assessment at a glance

Waeighting
AL Leval A& Lewel

Papar 1 1 howr
20 muliple cholce questions (Core 40% 20%
Paper 2 1 hour 30 mins
tap Data responss {Corel

1 question 0% 15%
B Structured essay (Core)

1 from a choice of 3 30% 15%
Papar 3 1 hour
30 multiple chaica questions (Supplament) 15%
Paper 4 2 hours 15 mins
ta} Data responsa {Supplsment)

1 quasticn 109%
bl Eszzays (Supplament]

2 from a choice of B 25%

Teachers are reminded that a full syllabus is available on www.cie.org.uk
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Paper 2

Paper 2

Australia and itz Morthern Territory

The Morthern Terrtory of Australia is a large, sparsely populated area. It relies heavily on tourism,
mining, agriculiure and fishing. The extraction of cil and gas and the mining of iron are and bauxite

have grown significantly in recent years. ts manufacturing is principally based on the processing
of its natural resources.

The MNorthern Temitory govermment publishes forecasts, which compare the economic prospects
of the Northern Territory with those of Australia as a whole. The table below gives extracts from the
forecasts in January 2009,

Table 1: Selected economic forecasts for Morthern Territory and Australia

Morthern Territory Australia
20089 | 201213 20089 201213
International exports,
constant price (Ag'm) | *17° 6004 176010 236824
International imports,
constant price (A%m) 2ris 2811 217675 224521
Consumer price index,
1989-90=100 1646 | 180.0 167.7 186.4
Average weekly
nominal earmings, A% 854 1078 916 1050
Unemployment rate (%) 3.7 57 492 6.5
Population aged 15-64
{thousands) 170 186 17 456 18627

* A% = Australian dollars

Question 1(a)(i)

Calculate and compare the change in the trade balance between 2008-9 and 2012-13
of the Morthern Territory with that of Australia. [4]

Mark scheme

Calculate and compare the change in the trade balance between 2008-9 and
2012-13 of the Northern Territory with that of Australia. [4]

Both improved (1), Northarn Territory (NT) has an increasad surplus (1), Australia goas
from deficit to surplus (1), supporting calculation NT A$1454 to A$53193, Aus AS-41 665
to A$12 303 (2)

Comparative points without accurate calculation can be rewarded, but the points must
refafe fo the ‘balance’, not the change in imports or exports alone.
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Example candidate response
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Examiner comment

This answer gains full marks. The candidate provides an accurate calculation, although it would have been
better if the balances had been shown in Australian dollars. It then goes on to make the comparative points
that the balances of both areas had improved and that the balance in Australia had improved at a greater
rate.

Mark awarded = 4 out of 4
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Paper 2

Example candidate response
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Examiner comment

This answer contains the necessary calculation, but fails to provide any comparative comment. As a result
the maximum mark available is two. The question clearly asks the candidate to ‘calculate and compare’.
Careful reading of question requirements is essential for maximum marks.

Mark awarded = 2 out of 4
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Paper 2

Example candidate response
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Paper 2

Examiner comment

This candidate provides a very confused calculation. In addition there is no real direct, comparative
comment. There is some understanding of the meaning of ‘trade balance’ however and the recognition
that in Australia the balance changes from a deficit to a surplus. It was considered to have sufficient
understanding for one mark.

Mark awarded = 1 out of 4

Question 1(a)(ii)
Explain why exporis and imports are often measured at constant prices. [2]

Mark scheme

Explain why exports and imports are often measured at constant prices. [2]

Constant prices exclude the effect of inflation (1), more accurate in real terms or shows
the volume of trade.

Example candidate response
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Examiner comment

This answer gains both marks available. The idea of the ‘real growth in the trade balance’ and the fact that
inflation distorts the real balance shows that there is clear understanding here.

Mark awarded = 2 out of 2

Example candidate response
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Paper 2

Examiner comment

This candidate gains a mark for the recognition that using constant prices is better because of the distorting
effects of inflation and a change in the exchange rate. For a further mark the candidate needed to say a
little more on why it was ‘better’. This could have been for example a statement that the measurement was
more accurate in real terms or that it would show the changes in the actual volume of trade.

Mark awarded = 1 out of 2

Example candidate response

Examiner comment

This candidate clearly does not understand the idea of ‘constant prices’. An attempt is made to suggest a
possible meaning, but with little success.

Mark awarded = 0 out of 2

Question 1(b)

Explain two additional pieces of information that would be useful in judging Australia’s
international financial position. [4]

Mark scheme

Explain two additional pieces of information that would be wseful in judging
Australia’s international financial position. [4]

From net income, net transfers, capital account, financial account, forsign reserves,
exchange rate, terms of frade or alternatives, identification (1), plus T mark for explanation of
identified point (1)

Cambridge International AS and A Level Economics 9708 9



Paper 2

Example candidate response
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Examiner comment
This candidate provides two relevant and additional pieces of information that would be useful in judging
Australia’s international position. Both are explained with sufficient clarity and detail to ensure full marks.

Mark awarded = 4 out of 4
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Example candidate response

Paper 2

Examiner comment

This candidate identifies the terms of trade as an additional piece of information that would be useful in
judging Australia’s international financial position. The answer then goes on to explain how the terms of
trade are calculated. This is worth two marks. The second piece of information identified by the candidate is
the ' Current Account’. This fails to score because without elaboration, this is too vague. If the candidate had
gone on to identify and explain some items within the Current Account, this would have been acceptable
and would have gained further credit.

Mark awarded = 2 out of 2

Example candidate response
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Paper 2

12

Examiner comment

This candidate identifies the Consumer Price Index and the Balance of Trade as two additional pieces of
information. These were not acceptable because both of these were provided in Table 1 and could not
therefore be considered as ‘additional’. This was a very common error amongst candidates. The most likely
cause of this error was a failure to read the question requirements carefully and many candidates gained no
marks here as a result.

Mark awarded = 0 out of 4

Question 1(c)

Analyse the change in average weaekly samings in Australia in real terms between 2008-9
and 2012-13. (4]

Mark scheme

Analyse the change in average weoekly carnings in Australia in real terms between
2008-9 and 2012-13. [4]

For an understanding of meaning of ‘real terms’ {1 mark)

Real earnings will rise (1), @arnings risa more rapidly than inflation (1), supporting calculation
14.6% v. 11.2% (2)

Example candidate response
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Examiner comment

This concise answer was awarded full marks. The candidate starts by showing a clear understanding of the
meaning of ‘real terms’. An accurate calculation is then provided showing that inflation rose by 11.2% whilst
nominal earnings rose by 14.6%. This was then followed by the correct conclusion that in real terms the
average weekly earnings rose.

Mark awarded = 4 out 4
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Paper 2

Example candidate response
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Paper 2

Examiner comment

This answer showed understanding of the meaning of ‘real terms’, but unfortunately the candidate was
unable to use the data to perform all parts of the calculation. A mark was awarded for the correct calculation
of the percentage change in nominal earnings, but there is no figure provided for the percentage increase in
prices. This meant that no conclusion regarding the change in real terms could be reached.

Mark awarded = 2 out of 4

Example candidate response
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Examiner comment

This candidate understands the meaning of ‘real terms’ and gains a mark for this, however the candidate’s
application and data handling skills are weak. The candidate does not grasp the distinction between absolute
figures, percentages and index numbers and fails to gain any marks for the calculation.

Mark awarded = 1 out of 4

Question 1(d)

With the help of the text and the table, discuss the economic outlook for the Marthern Territory.
[6]
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Mark scheme

With the help of the text and the table, discuss the economic prospects of the
Morthern Territory. [6]

Good prospects: trade in tourism {income elastic), minerals and oil, rising surplus, relatively
low inflation rate, higher real wages, growth of working population.

Poor prospects: risa in unemployment, dependence on narrow range of production, variable
demand, externalities of tourism and mining, lack of sustainability of natural resources.

For the identification of points that could affect the economic prospects of the Northemn
Temitores (2 max.)

For explanation of why the identified pointz are relevant to the economic prospects. (2 max.)

For comment on the economic prospects of the Northam Temitones, for example a reasonead
summary or conclusion. {up to 2 marks)

Example candidate response
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Paper 2
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Paper 2

Examiner comment

This answer starts by describing some features of the Northern Territory economy before identifying
information provided in the data that would allow a judgement to be made concerning the economic
prospects of this area. The surplus on the trade balance, which is expected to grow, is identified. The
candidate then provides some inaccurate estimates of the rate of inflation but goes on to explain the
dangers of a high rate of inflation. Some good analysis is then provided using relevant economic concepts.
The final paragraph provides a valid comment on the danger of the Northern Territories relying upon natural
resources which might run out. A rather fuller comment on the future economic prospects of the region
would have resulted in full marks for this answer.

Mark awarded = 5 out of 6
Example candidate response
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Paper 2

18

Examiner comment

This candidate identifies and then explains two items of data that could be used to assess the economic
prospects of Northern Territory. Good explanations of the inflation rate and the unemployment rate and the
significance of each are provided. Marks are lost here however, because there is insufficient attention paid
to an assessment of the overall prospects for the region. No comment is provided for example on whether
the negative indicators might be more powerful than the positive indicators. This comment might have been
supplied in a concluding paragraph in which some evaluative judgement might have been provided.

Mark awarded = 4 out of 6

Example candidate response
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Paper 2
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Examiner comment

This candidate refers to a very wide range of economic indicators shown in the data. The answer starts with
a description of the Northern Territory and then goes on to list the contents of Table 1. The weakness is that
none of the indicators are used to answer the question. For example, it is stated that the unemployment
rate is expected to rise from 3.7% to 5.7% and that this is ‘worse’ for the Northern Territory. This is

clearly the case, but there is no explanation of why this is so. A simple statement that, for example, a rise

in unemployment represents a waste of potential output or that the increase in unemployment benefits
represents a drain on government finances would have been sufficient for a further mark here. Explanation
of the points identified would have allowed an evaluative conclusion to be reached on the economic outlook
of the region.

Mark awarded = 2 out of 6
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Paper 2

Question 2(a)
Explain the rale that a government should fulfil in a mixed economy. (8]

Mark scheme

Explain the role that a government must fulfil in a mixed economy. [B]

A mixed aconomy |5 based on private ownership, the profit motive, demand and supply etc.
with a role for the govemment. The role is to provide the envircnment in which the market
can operate successfully. This includes ensuring law and order, national defence, property
rights and the provision of public goods and desirable merit goods. |t intervenes with taxes,
subsidies etc. to influence the behaviour of the private sector and markets and achieve a
better allocation of resources,

For a definition of the mixed economy (2 marks)
For an explanation of the role of government in a mixed economy (6 marks)

20 Cambridge International AS and A Level Economics 9708
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Paper 2

22
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Paper 2
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Examiner comment

This is a very full answer. The candidate starts by providing a sound explanation of the mixed economy.
The answer then goes on to consider a wide range of roles that the government undertakes in a mixed
economy. The comment is made that the role of the government is to maximise welfare and various types
of government intervention to achieve this are explained. These include price controls, policy concerning
demerit and merit goods, the provision of public goods and the need to ensure law and order so that the
private sector can operate.

Mark awarded = 8 out of 8
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Paper 2

Example candidate response
{.‘:'aE:;tiaﬂ \".;} .

o o SecHion ¥ i s
n&ijhﬁ.mmﬂ.l&hiﬁﬁﬂm? ....... EOVIRTIES =5 at ks i
L ) i 1 Tl TRy
............ ......‘.'.i'..’.'nﬂ.......m.m:.ifi.ﬁ.m....:%...’531..'.:!..ﬂ5!.muléaj......m..1.1.51.....:..l'.?k.u%....ﬂm, T £
............ hﬁqgkw’i"nﬂ%aﬁfnm“ apevYares oo
= i L |
W) 3‘:hhmh‘mm.ﬁﬁﬁm_ﬂm ..... 442 a
aoveynmevit is o previdd toxes)
v « i v, b 1. - & L. \
1 subsidie ...,....m::ﬁi:n.mfuun.ﬁﬂ_uﬂgﬁ;mg oA L .
| ¥eauired ..,.....m\.&e.mf:.,iﬁ...:’:..":.m"' K CROTY
ﬂif‘wmn*ﬁ ..... f‘fm&nl.ﬂ ...... Wl adds anl ‘k .............................................

# ™ bl %
_4_14&'13{_::@& by + atani T 1 L r A (T
: : ',I = %__?.{—\ h‘ . . _}. ) .'h :_"

PfEuention o == &l T L TR o ;

me%\a& % S u;‘k! Q5 Ye ﬂ.l?r.hiiib.iifm__ﬂkul VRIS, ﬂ ... Rt
- - b g 521
Ve AKX e o COYANIN }(__f.lifh Ve ﬂfﬁ‘/’(JS |7

.............. - {\'i“m_mgfkﬂftﬁﬁ_mmuﬁ |
........... sneXem sl dedevmine™ this elaviemy |
T S r Y
........... ad iF helps S indevecet dembnd
........... ,hgt‘mmﬁhﬁiﬂ‘n}uf_gﬁm m.fnﬂﬂnm

,,,,,, (e ”uﬁ"& - The H‘.:M_‘.E_t;‘.;.t_.ii;:_ﬂ_ﬁm!.1'*..2.&::&."11

: ......gz.ﬂ:.msimﬂ.ﬂ. ..... ¥ ii.‘:al.m.}k_ﬂ_mﬂjb;ﬂ.ﬁ.ii........!:-.].f.h:&;..

L nsialls _

AS TS ﬂjl: “F’O\L"s'hiﬂmki_e.}i\im,. 35N |
E;G *“l‘\ﬂ 0y 8 ET“E,_EH‘.* iﬂﬁﬁ, <A lrhhf:'lt';‘ fﬁl!ﬂ?
Aoy in Yhe < oiond econtmy ok the
— Mixed OV . Howewver the. fr‘r:&*’r miﬂtj
SLONOMY AlSo l:'-;rﬂ:a:.i.f._'}ﬁ fri: ‘Hh :
Qwﬂﬁﬂ.m%‘_a.'MLﬂlhquimswtﬁ“Lf .

N 3%3;{&&11...&;&;4&..".. oliciess.. .
Nﬁjﬂl@uﬂmmfﬂﬂﬁm ...... e ke O N

Lo

Cambridge International AS and A Level Economics 9708 25



Paper 2

Examiner comment

This answer starts with a rather uncertain explanation of the ‘mixed economy’. It then continues with
a number of reasons for government intervention, which are valid, but left insufficiently explained. The
answer ends with a very confused concluding paragraph.

Mark awarded = 5 out of 8
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Examiner comment

This candidate produces quite a weak answer. There is no clear explanation of the meaning of the term
‘mixed economy’ provided at the start of the essay. The role of the government is considered very briefly
and there is a limited range in the reasons for intervention considered. The structure and content of the
answer are both limited and a middling mark is the result.

Mark awarded = 4 out of 8

Question 2(b)

Discuss the accuracy of the definition of public and merit goods as ‘goods that must be
provided by the govermment', [12]

Mark scheme

Discuss the accuracy of the definition of public and merit goods as ‘goods that must
be provided by the government'. [12]

Public goods are non-rival and non-excludable such as street lighting. Merit goods are goods
underprovided by the market system. The consumers lack full information of the
consequences of non-consumption. This might include healthcare and pension provision.
Although the governmant provides public goods because it is not possible for the market due
o free riders, mearit goods are supplied to a greater or lesser extent by private providers.

The government also provides other goods and services which are neither public nor merit
goods. The definition fits public belter than merit goods but is inadequate in itself,

For an understanding of public goods and why they are provided by the government
{up to 6 marks)
For an understanding of merit goods and why they are provided by the govermment
(up to 6 marks)
(10 marks max. )

Discussion of the accuracy of the definition. {4 marks)
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Examiner comment

This is an excellent answer. The features of public and merit goods are each explained in sufficient depth.

It is clear that the candidate has a firm grasp of each type of good and can distinguish between them. This
allows the candidate to consider whether each ‘'must’ be provided by the government. The view reached on
each type of good is clear and this is confirmed in a brief conclusion.

Mark awarded = 12 out of 12
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Examiner comment

This answer contains evidence of an understanding of the main features of public and merit goods and
gains marks for this. It would have been awarded further marks if the question had been answered more
convincingly. A crucial point has been missed. This is that the government ‘'must’ provide public goods
because the free rider problem, which is mentioned by the candidate, means that private firms cannot
charge a price and as a result cannot make profits from their provision. A more assured explanation of this

point would have meant that the candidate would have provided a much more convincing answer to the
question set.

Mark awarded = 9 out of 12
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40

Examiner comment

This is a very poor answer that displays a complete lack of understanding, together with very poor exam
technique. The candidate starts by stating that public goods are non-excludable and non-rival. This

is correct, but it is clear from the explanation provided of each feature that the candidate has tried to

learn these terms rather than understand them. This lack of understanding continues in the candidate’s
explanation of merit goods. It is correctly stated that these goods are excludable and that they have positive
externalities, but these features are not explained sufficiently, nor are they used to answer the question
about government provision. The answer then drifts into irrelevance with an explanation of demerit goods
and some quite general comments on the benefits of for example education.

Mark awarded = 2 out of 12

Question 3(a)

Using economic analysis, explain the possible causes of the increase in the sales of electronic
goods, such as mpd players, in recent years. [&]

Mark scheme

Using economic analysis, explain the possible causes of the increase in the sales of
electronic goods such as mp3 players in recent years. [8]

Influences have come from both the demand and supply side. Rising incomas, advertising,
changing fashion and tastes have increased demand. Innovation, the introduction of new

and improved products and the lowering of costs have increased supply. The fall in the price
of the goods has resultad in an extansion of demand. Mora ara baing sold al lower pricas,

Understanding the significance of demand and supply £ marks

Explanation of demand andior supply changes 6 marks
lup to 3 marks for each factor explained)
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Examiner comment

This is a very good answer that displays a good grasp of the required supply and demand concepts allowing
a very successful analysis of the possible causes of the increase in sales of electronic goods. Diagrams

are accurate and the examples provided of a possible increase in demand and increase in supply of these
products are valid and appropriate.

Mark awarded = 8 out of 8
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Examiner comment

This answer contains some quite valid comment on the possible reasons for the increase in sales of
electronic goods. Supply and demand curves are outlined and there are suggested reasons offered for shifts

in both the demand curve and the supply curves. Some of the explanation provided is incorrect however
and fails to score as highly as it could.

Mark awarded = 6 out of 8
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2

Examiner comment

This is a weak answer. It is poorly focused and contains irrelevant material. The candidate seems aware of
factors that affect sales, such as advertising and the price of the product, but there is no development of a
supply and demand framework within which the answer can be delivered. As a result the candidate scores
for one or two points made in a disorganised framework.

Mark awarded = 2 out of 8

Question 3(b)

suggest two possible reasons why & government might increase the indirect tax on such
goeds and discuss, in light of these reasons, the likely effectiveness of such a policy. [12]

Mark scheme

Suggest two possible reasons why a government might increase the indirect tax on
such goods and discuss, in the light of these reasons, the likely effectiveness of such

a policy. [12]

Fossible reasons include raising revenue to finance government expenditure, cutting the
purchase of imports to help the balance of trade. It might be argued that the products are
demerit goods bacause of the harm to hearing and disturbance to others, An indirect tax is
imposed on spending and raises the price of the good. PED measures the responsivenass of
demand to & change in price and affects the impact of an increase in an indirect tax. A tax
will best reduce the quantity imported when demand for imports is elastic as there will be a
more than proportionate fall in demand. To raise revenue it iz better for demand to be
inelastic so that the fall in demand is less than proportionate to the price rise. The
effectivenass of internalising the nagative extarnality will depend upon satting the tax at the
appropriate rate.

For a definition of indiract tax (1 mark)

For an explanation of one reasen for an indirect tax and a discussion of ‘effectivenass’ (up to
B marks with 4 max. if anly one elemant is considerad)

For an explanation of a second reason for an indirect tax and a discussion of ‘effectiveness’
(up to 6 marks with 4 max. if only one element is considered)
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Examiner comment

This candidate clearly identifies two reasons for the imposition of an indirect tax. Each is explained clearly.
Although the second reason identified has the effectiveness of the tax examined, the first reason does not
consider this aspect of the question. The question clearly states that effectiveness should be considered,
so marks are lost and the mark awarded less than it could have been.

Mark awarded = 8 out of 12
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Examiner comment

Candidates were asked to identify two possible reasons for the imposition of an indirect tax. This candidate
is unclear on the possible reasons. The reference to demand-pull inflation is confused. There seems to be

a recognition that indirect taxes can raise revenue, but this is not developed. Similarly, the explanation of a
trade account deficit is not fully clear. In terms of effectiveness, it is correct to refer to the price elasticity of
the taxed profit, but this candidate does not apply the concept successfully. The answer also fails to define
or explain, ‘indirect tax’.

Mark awarded = 5 out of 12
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Examiner comment

This candidate identifies two valid reasons for an increase of an indirect tax, although one reason is not
expressed very well. The supporting analysis is confused however and fails to answer the question set.
The diagram is incorrect and there is considerable irrelevance. This suggests that the candidate lacked the
necessary knowledge and understanding to attempt this question.

Mark awarded = 3 out of 12
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Question 4(a)

Explain why the successtul operation of the division of labour depends upan the use of money.
[8]

Mark scheme

Explain why the successful operation of division of labour depends upon the use of
money. (8]

Division of labaur involves dividing the production process into a seres of stages. This leads
to more specialised outputs which are not necessarily final products. Trading these In a
barter system would be difficult, inefficient and probably impossible. Money, anything that is
genarally acceptable as a means of payment, can act as a medium of exchange and a unit of
account, so enabling frade to take place and making division of labour effective.

Understanding of division of [abour and money 4 marks (ona only 3 max.)
Explanation of the link between the functions of money and trade 4 marks
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Example candidate response
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.....

Examiner comment

This candidate explains both the division of labour and money as a medium of exchange. The answer goes
on to explain how money facilitated exchange through the removal of barter and the necessity of a double
coincidence of wants. This encouraged growth and the division of labour. Each concept together with the

link between them is explained ensuring full marks.

Mark awarded = 8 out of 8
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Examiner comment

This candidate explains in some detail the division of labour and identifies this as an aspect of specialisation.
Money is also identified as a medium of exchange. This scores highly. Unfortunately, the candidate scores
very few marks for the second part of the mark scheme. There is very little on the link between the use of
money and the growth of the division of labour and trade.

Mark awarded = 5 out of 8

Cambridge International AS and A Level Economics 9708 65



Paper 2

66

Example candidate response
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Examiner comment

This is a very poor answer that does not go far beyond a very basic grasp of the two central concepts. The
candidate gives a very brief definition of the division of labour but there is little accompanying explanation or
attempt to illustrate the process through examples. The answer also contains some irrelevant comment on
the disadvantages of the division of labour. This is followed by a list of the functions of money. Again this is
far too brief. The candidate fails to display any idea of the link between the two concepts.

Mark awarded = 3 out of 8
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Question 4(b)

Discuss whether it is the behaviour of producers, consumers or governments that is most
likely to cause inflation. [12]

Mark scheme

Discuss whether it is the behaviour of producers, consumers or governments that is
maost likely to cause inflation. [12]

Inflation is a sustained rise in the general price level and is measurad by the CPIl or RPI.
Each of the groups can contribute to inflation although in different ways. Producers may
increase prices to raise profit levels or to respond to higher import prices {cost push);
consumars may increase thair spanding and raduce their saving raising AD (demand pull);
governments may increase the money supply (monetary inflation), lower direct taxation and
run budget deficits (demand pull) and raise indirect taxation (cost push inflation); they may
also manipulate the exchange rate. Candidales can argue for any group although
government influence may be most widespread.

For a definition of inflation 1 mark

For an understanding of different types of inflation 6 marks

Analysis of the influence of different groups B marks (10 marks max.)
Discussion of the relative impact of the groups 4 marks
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Example candidate response
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Examiner comment

This answer provides a good definition of inflation which gains credit. There is also a strong analytical
framework based upon demand-pull, cost-push and monetary explanations of inflation. These gain full
marks as per the mark scheme. There is also an analysis provided of the relative influence of consumers,
producers and the government linked to these explanations. The candidate also concludes that it is the
interaction of all three agents that causes inflation. This is an acceptable conclusion at this level.

Mark awarded = 12 out of 12

Cambridge International AS and A Level Economics 9708

71



Paper 2

Example candidate response

k) waeanh rﬁﬁ Thorea Tw she price leveln of

= ‘h_-!‘lm_taﬂgﬂaq over +ine. Thre're Hhpee

taase s of Tiflatin . dﬁmd.ip&l'ﬂhfdmm._ma;_pmh_ﬂﬁﬂam_
TPl

Lt Ht&t&.gfﬂf 'Ln"m-vn Troreast  ovad e 'Lhi'rl-.ﬂ -;WMA

dearenve of peeple Hhﬂ-*ﬁmmbﬂju{

| —Avernuateet vl MM&JA_&&MW_ML o Agods. g
| opeuially AW gorde @] melarite deveand pd_glawhe wnppiv o

72 Cambridge International AS and A Level Economics 9708



0 Gl or Gorvie & iy gl e the_odupts Il Thuease

the prue o gain weord prebe. —then il cause the tot puds
_telowron. Th 3 Hhe bebodvnr o produieen 19 (ause the Tl
;ti;_aaufd.ﬁg&'l—_hqh_m-h Tl vl caute e ogudy
e ot daeoder , M pesyle 3\l yrefer |
_ﬁ--hm{. pﬂb_mf:tmd_z[—_lm\_m@.md_quﬁa- ~he Jotal
_ tonssive somnd £ail- To et colur it GHwating , Hat gowernmact 1
Ll ave o, auhhﬁmmmmm@mm
—The the pot vl deente aud e peiie il .

_.-u&zm&&t:ﬂr
rleweans -H-'It 'Lll FRAAALE ,/

iu_mmmquﬂ.a_mwmwmﬂmhﬂmuﬂgwa{ |
Gy ouwd  Geriigy taprease owd e Pricey ioremst , “Thow 7l
e ‘ |
_lead 4 "o "t~frkh‘um T byt behadour ok e pguprnmenst - |
wﬂﬂ_"ﬂi il glowestie w—fvtaﬁm il auie |
w:pr‘rt; ot toweediinag . thew e deond Dor experdy /
T gl
lead 4w o L#Mﬁ_‘?mmmm'r ole byl Frr-ﬂ"-'-!. mu?ﬂ‘ﬂi‘ﬂuﬂ )
_Hhae grusmment umil dake tome ptinn 4o geo] 5t balowe of fl
_gm.srmﬂ.yx_d:%ﬁr gl e T%le*w “Thae Aruetnadt” o ot f
3 p redug Por Boy debigt Hetfn

Mi‘ﬂ thmﬁ?ﬂﬁhﬂdﬂﬂ_#m——

Lk )

M ) o)

4[!&435_1 lﬂh%lwbek_ynmn#wmmm

_Fm!eém;a_md_qnwmmm wall e oy '
[€3 43 ks b @

Cambridge International AS and A Level Economics 9708

Paper 2

73



Paper 2

Examiner comment

The candidate starts with a definition of inflation. This gains some credit. The answer then lists and gives

a brief explanation of demand-pull, cost-push and monetary explanations of inflation. Each is generally
satisfactory, although lacking in depth and reference to economic frameworks. These gain credit, but

the main weakness of the answer is the limited focus on the behaviour of producers, consumers and
governments. This means that a full discussion of which is most likely to cause inflation is not provided and
this leads to the very weak conclusion and a disappointing mark.

Mark awarded = 7 out of 12

Example candidate response
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...............

Examiner comment

This candidate is aware of how the government might cause inflation, but this is presented as a few isolated
points and is not developed within a conceptual framework. Similarly, reference is made to producers and
consumers, but without the conceptual framework, the candidate is unable to develop the answer to gain a
good mark.

Mark awarded = 5 out of 12
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Emerging economies and the way out of a recession

Dwuring the recession of 2009 several economists forecast that some emerging (fast developing)
economies would perform better than the developed economies. One indicator of this, they said,
was the strength of the exchange rate of the cumrency of some emerging economies against the
LIS dollar. For example, between Movember 2008 and July 2003, the Erazilian currency rose 11.4%
against the dollar and the Indonesian currency rose 10.2%. Another indicator was the forecast
growth rate in GDP as shown in Table 1.

Table 1: Forecast growth rate in GDP for selected countries

Forecast Growth Rate in GDP
2009 % | 2010%
us —2.7 +1.4
UK —3.5 +0.3
Germany —4.3 +0.3
Japan —6.5 +0.4
Hong Kong 5.9 —0.3
China +8.0 +7.0
Singapore -7.5 +1.9
Brazil —1.5 +2.7
Coumbia | 10 | 415
India +5.0 +6.4
Indonesia -1.3 +0.6

Emerging economies are often dependent on exports to achieve an increase In GDP. Some
economists suggested thal it would be better for their economic growth if these countries were o
concantrate on domestic demand rather than exporis.

China, in particular, they said could lead the world out of the recession if it relied increasingly on
domastic demand. Indeed, the Chinese government encouraged a shift from export-led Industries
to programmes aimed at improving the Chinese infrastructure in order o create jobs and thus
increase consumption of Chinese goods. Banks were encouraged to make borrowing easier in
order to create more cradit for consumers and businesses. The government started a massive
fiscal stimulus and Increased its forecast of GDP o a growth rate of 8.3% in 2009 and 10.9% for
2010 (previous forecast figures were 6.0% and 7.0% as in Table 1).

Howawver, other economists do not accept that there should be an emphasis on domestic demand.
They argue that trading links are the strongest evidence of the emerging economies’ ability to
grow, They state 'no emerging marke! that adopted an export-led growth model has subsequently
needed to break away from it = including China’. China's exports as a percentage of GDP are
32% compared with only 139 for the US. Smaller Asian countries are even more dependent
on exports; Singapore’s ratio of exports to GDP is 234%, Hong Kong's is 168%. It will be difficult
for economies such as these 1o increase domestic demand and reduce their dependence on
export-led growth.

{Source: Financial Times: June 12 2000, Table sowce: Economiat o105 Apell 18-24 2009)
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Question 1(a)
Explain what is meant by GDP, [3]

Mark scheme

The Gross Domestic Product (GOP) measures the value of economic activity within a
country. Stricily defined, GDP is the sum of the market values, or prices, of all final goods
and services produced in an economy during a period of ime. [3]
{For stating Gross Domestic Product 1 mark only)

Example candidate response

0.0y

| Cnat NeGonal greducl- 3 @D+ el weome (ewm dbGad|
== COP = Gl nekr wuncome  Kom oboad. 2

Examiner comment

This candidate had an understanding of the meaning of GDP, and stated that it was for a given time period
and expressed as a monetary value.

Mark awarded = 3 out of 3

Example candidate response
&
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@?Mh ( GPP= ¢+T¢ G+ x-M) )

Examiner comment

This candidate gave an explanation of GDP but omitted to state it was for a given period.

Mark awarded = 2 out of 3
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Example candidate response
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Examiner comment

This candidate gave a poor explanation which did not include any reference to monetary value nor to a time
period.

Mark awarded = 1 out of 3

Question 1(b)

The article says that banks were encouraged to make borrowing easier,
Explain what this might mean and why the government might have thought this was necessany.
[3]

Mark scheme

It means more available credit, easier o get; or credit at lower interast rates. This would be
likely to increase national income by the multiplier process, (A descriptive reference to the
process is sufficient; there is no nead to use the actual term) [3]

Example candidate response
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Examiner comment

This candidate clearly explained the meaning of the phrase and the reason why easier borrowing might be
necessary to stimulate economic growth.

Mark awarded = 3 out of 3
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(b).
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Example candidate response
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Examiner comment

This candidate attempted to answer the question but the answer did not direct itself explicitly to the phrase
which should have been explained. Instead the answer began by describing what happens to consumption
in a recession.

Mark awarded = 1 out of 3

Example candidate response
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Examiner comment

This candidate mentioned credit but did not answer the question about what the phrase meant nor why the
government might wish to increase credit.

Mark awarded = 0 out of 3
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Question 1(c)

I5 there enough evidencs in the article to support the view that there has been an improvement
in the economic situation of emerging economies? [6]

Mark scheme

Use the figures for specific exchange rates, and figures for GDP — expect o see examples of
emarging/developing countries compared with developed countries. But they are only
selected countries, and for only two years and they are projections not achual figures.
Exchange rate figures may mean exports become more difficult to sell, (5]
[Maximum 4 for one side of the argumant only]

Example candidate response
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Examiner comment

This candidate used the information in the article to illustrate an improvement in the economic situation
of the countries but also suggested reasons why this information was not sufficient to draw a definitive
conclusion.

Mark awarded = 4 out of 6
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Example candidate response
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Examiner comment

This candidate mentioned that emerging countries are often dependent on export-led growth and

did suggest that the information about this was not sufficient to indicate whether there had been an
improvement in their economic situation. However, there was no mention of other indicators which might
prove useful, nor much mention of other information in the article.

Mark awarded = 2 out of 6

Example candidate response
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Examiner comment

This candidate wrote about the level of inflation and the balance of payments. Although these two indicators
might be used to consider whether there was an improvement in the economic situation of a country they
were not relevant to the article given in the question which did not contain any statistics for these indicators.

Mark awarded = 1 out of 6
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Question 1(d)

Identify the two policy approaches suggested by economists in the article and discuss
whether there is a conflict between them. (8]

Mark scheme

An increase in domestic demand to encourage growth and expori-led growth. 2 marks
Conflict? Different approaches but same aim of growth 2 marks
increase axports improves balance of payments and Increases injections and GDP; incraase
domestic demand will also increase injections and help increase GDP. No conflict. 2 marks
Increase domestic demand may increase incomes and increase imports which may need to
be offsat by further export growth. A possible conflict. 2 marks

[8]
[A general description of fiscal and monetary policy; 2 maximum]

Example candidate response
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Examiner comment

This candidate identified the two policies mentioned in the article as the need to support an increase in
domestic demand or the need to support export-led growth. The answer was then directed to the second
part of the question which asked whether there was a conflict between the two aims. Although there was
a statement in the last paragraph which refers to a way to lessen any conflict, the answer could have been
improved by further comment on the possible similarities between the two policies.

Mark awarded = 6 out of 8

Example candidate response
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Examiner comment

This candidate’s main emphasis was to say that the two policies were fiscal and monetary policy rather
than that which is in the article which are a decision to concentrate on domestic demand or on export-led
growth. However, the answer did try to relate fiscal and monetary policy to domestic demand and export-
led growth so there was some relevant material in the answer.

Mark awarded = 3 out of 8
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Examiner comment

This candidate wrote about contractionary and expansionary monetary policy. The answer bore little relation
to the information in the article which considered the wisdom of supporting an increase in domestic
demand against an increase in export-led growth.

Mark awarded = 1 out of 8
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Question 2

The use of cars causes marke! failure, To achieve an efficient use of resources it would be better if
governments intervenad 1o affect both the production and the use of cars.

Explain the meaning of the terms "'market failure’ and “the efficient use of resources’ and analyse
whether economic theory can be used to support this argument. [25]

Mark scheme

Candidates need fo explain the two terms, market failure and the meaning of the efficient use of
resources, and then consider the argument. Market failure can be explained by reference to
possible excessive profits, the need for very large investmants, the existence of externalities and
of merit goods, and of the need for public goods. Economic efficiency should be explained in
terms of productive and allocative efficiency.

Government intervenfion can be through regulation, taxation or subsidies.

There are negative and positive externalities from car use. Negative externalities include
pollution. Positive externalities include less crowded public transport with greater comfort;
baenefits from the expenditure of the tax receipts. Unlike other positive externalities where
subsidies have been used, it has never been suggested that subsidies ought to be used to
increase the positive externaliies from private car use. Any subsidies given are used o make
alternative public transport more attractive, However, taxes have been used o decrease
negative externalities. Taxing the use of cars is usually presented in the context of negative
externalties to achieve allocative efficiency. Taxing production might not result in productive
afficiency. [25]

L4 For a thorough explanation of both efficiency and market failure and a competent discussion
of the rofe of the government in promoting efficiency overcoming market faflure. A reasonad
canciusion showd be presenfed J18=25]

L3 For a competent explanation with either a more limited comment on both efficlency and
market faflure (perhaps conceniraling on productive efficlency) or & full explanation of one
but littte comment on the other. The role of the government will be discussed in a more
fimited way but a conciusion should still be presented. [14=17]
(L3 maximum if there is no mention of production and use of cars)

L2 fFor an undoveloped explanation of efficiency/market faillure with very little discussion of the
e of the government. Mention of the government will be descriptive rather than in the form
of a discussion related fo efficiency/market failure, It is ikely there will be no conclusion,

[10=13]

L1 For an answer which shows some knowledge but does nol indicate that the question has
been fully grasped, or where the answer confains imelevancies and ermors of theory. =97
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Example candidate response
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Examiner comment

This candidate gave a good answer which referred to both the analytical theory of market failure and to the
application required in the question relating to cars. A reasoned conclusion was presented. The answer fell
within the band 18-20 in the general comments at the start of the mark scheme.

Mark awarded = 20 out of 25

Cambridge International AS and A Level Economics 9708 91



Paper 4

Example candidate response

d.

-_

Marke it confideved 4o b® fail when WEYE 1T ROW-pYOVIReW OF Pulbic

goode , uwder- provigion oF wend goudi and over-provinow of dEmevit Queols,

Exlernaiitios are esgh e coty &F or eBneld wmcuyyed Yoy a davd party of

6 production oy comfluwphion of @ qood ef SERce. THere are 4wo typer of

ey Hrral et MAwely P NE exi@rnaiiies and wegalwe exrermalines.

Me use of carr GVE kwolun of wEgotve ext@rnalitier | Negative

Exiernalidies occur when woargmal social cofly ( MIc) excerds marginal

priyote cosie [ MPC) . AT dwe qood i produced wore thaw the socdlly

opfimauw 18vEl . i g said to e overproduced EIHM; CAUCET O low price

e goad. Twe use of copr dve faich 40 be wOgotive exierhalrhier of @ corg

2 eritf toarbow wWOnDxide WHO dwe aw | wwiich TAUSES aly poliutiew,

g Awivd pardy  will ivicly Yhe exlernal cofh, Aldeaieg) focial cusir oolig

e Tound wy odding #rergiatd prvote coff - wifl Sede external coris.

¥ o pALC

N7 o™ Y4
B >< /

=X
/

i i B
R L '

0

g My s

Ecowowic efficiency ran b2 ackhieved whewn +heve io produciive

efficiency awvd alueolive effect efficioncy. Productive effitiency orcurs whew

qoods And sevvites are produced at the leart pornklf cori.

AT

AL
\ a4
\ ¥ / ¥

N e

.

0 s 0

r i

Preduchive efficievicy cam ke ackieved By producing goodS dnd cervices oy e

owest postiele cotd whith 5 AC, . fecondiy , it should produce on the

lowest point of 4ME loweH avermqe oft cuvve VL i kwown ar techwical

efficiency). productive efficiency con also ee achieved bl producing

Cambridge International AS and A Level Economics 9708



Paper 4

g oods and services yigwt on thE prodygiien pESisilidy turve, B diagram bl

showe AN polvir ¥ ¢ produchive mefficient of 4me TeIouvcel uted tow W produce

o re E'.I"”'“' Powr Y Svows

ot 1t produchive efficiend as yefources are

funiy empoyed. ol ¥ 4

P

=
T

E

S

s, @ood X
,

— £

competition gibws produciive efficiency fo occur as firms will produle goods qf

tWe lowesy poibiple coft. 0

perfect tempect ompelifion | produdive efficiency s

1 e E
achieyed . Eg:{ o \ MO Ac
qu -‘""-\-._._ .l"r MRI. l"'-ﬁ*i’ﬂﬂ_l'.l
) Ut Py
T L=

Avlocodve effiCiency # ocours WWen _Fhe right products are produced with

e gt awolwvt of Fesoure es, mufp'ﬁrn alpcafive it dchieved when price

W equals to morgmal cogd [ P =Mc ). Wwen dodds ave produced a4 2 unitg,

uvidg | | ' 2laly | sle | W s olocalive efficient , a5 ¥ price excéeds
P 4 | Wl 4 (4| | mordinal costs [ PamC). when gqoods dre
ML a I (% | 6| |7 produted at § units , it i anocahive wmefficlent

as wardinal curts exceed price [ Pg p.-.‘r}ar"_'fl.-i wWill bP allgecative efficient

wWEN dogds erd produced ot 2 uwitr ez P T mc,
RFEVEMIUE A
o5t “-,\ /""""‘: /,-“L
P T P=AR*MR=DD

O

a o p Lt

il
do

Cambridge International AS and A Level Economics 9708 93



Paper 4

94

To athieve econonne efficiency and avoid market failure , gorernmaent

witerverhon e weeded . Atyeswment should pmpese fax of ak as = shown i

tne diggraw et to @ correchk warket failure,

P MEC
¥ W

‘\,f’rr W ki

Avi '.-,-,-.Fanfmn of 4oy v decreale e ]:mnluc-}lﬂn of rtart which would

N tlrn decrente the dmount of carkLh monoxide emited, -

-
Bovervment tan @nfovee rpguﬂﬂ‘l]ﬂhr SUCh ar pedk hour charger. AW

amound of woney to be paid for thofe who drive oW the road during

peds Wours

Goverviwent Wil alco produce public quods ard werit queds as

PUiBlic gqoods dve woy provided by fhe privare cecior and werit gopds dve fepp

provided ey AWME private Iechor.

Ah imparition of INComME tay walk by fwe gbuernment w'llllfm:'ﬂuw

disporaole NCOmM@ of cONSUMEYT. THIT win de(rRare the consumplion of

CUMTUWRYS. BOVermwEnt Con alfe McYeare twe ivtevelt rarer of comwertial

BaMES . TVIE Wl aMcveate cofd of eovwowing which ledd o s a redudiion

of conmsuvweis 4aking cay loaks, lwporing duty ImMpoHE can qlfo reguce

Cow SU P HOw of cars, Coav duties Will ivicrease pr?cel of jmpOried cars. Thi

will 1eqd 40 a fall Wi conSmption of cars, whith reduces peljutien

i

S (T J

Examiner comment

This candidate had a reasoned account of market failure in terms of public goods, merit goods and
externalities. There was also an explanation of productive and allocative efficiency. The weakness of this
answer was that there was little on the role of government intervention and even less on the application to
cars. Both government intervention and an application to cars were required by the question.

Mark awarded = 15 out of 25

Cambridge International AS and A Level Economics 9708



Question 3
(a) Discuss whether demand schedules and budget line diagrams are similar in the way they

represant the effect of

{i) & rise in the price of a good

[ii} a risein aconsumers income. [12]

(b} Analyse what is meant by the eqgui-marginal principle of consumer demand and whether it

can be linked to the derivation of a market demand curve. [13]

Mark scheme

(a)

(b)

Arise in the price of a good: a demand schedule has price and quantity of one good bought
against price; budget line diagrams have quantities of two goods — price is not on the axis;
one cannot tell how demand will change with budget line unless you also show praferance
lines.

A rise in a consumer's income: similarity, both move paraliel out for a rise in income; but
cannot tell what will be bought unless have supply line = with demand - or preference lines

with budget line. [12]
L4 Fora sound discussion indicating the similanties/differences [o-12]
L3 Foran accurate explanation but with a less clear companson =48]
L2 Fora general undeveloped explanation with little companson. [5-a]

L1 For an answer which has some basic correct facts bt includes imalevancies and ermors of
theory [1-4]

Analysis of equi-marginal principke which underlies an individual demand curve. The sum of
individual demand curves form the market demand curve. Whether individual utilities can be
added is debatabla. [13]

L4 For a reasoned discussion linked to more than one good and cleary structured answer
with a conclusion [8-13]
[Low L4 maximum if there is mo mention of market demand]

L3 Fora fair dizscussion but undeveloped answer but stil with a conclusion 78]

L2 For a limited atternpt which does nol clearly defermine the equiibrium posifion for more
than one good and ro conclusion. 5=8]

L1 For an answer which has some basic cormect facts but includes fmelevancies. Erors of
theary or omissions of analysis will be subsfantial, [=4]
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Examiner comment

In section a) this candidate gave a clear explanation of both a demand line and a budget line. Changes

in price were demonstrated correctly on both types of curve with a clear comparison. Income changes
were correctly shown as indicating a similar movement on both types of curve. In section b) the candidate
explained the meaning of the equi-marginal principle and discussed its link to a consumer’s demand. The
answer could have been improved if the last part of the question which asked about a market demand
curve had been more clearly discussed. Mention was made of a market demand curve but the explanation
surrounding this was really related to an individual consumer’s demand curve.

Mark awarded = 22 out of 25
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Examiner comment

This candidate gave a clear explanation of the meaning of a demand curve and a budget line in section

a). For a price change the shift along a demand line and a pivot about a point on one axis for the budget
line were indicated. Income changes were shown as a parallel shift in both the demand and budget lines.
This section of the answer could have been improved if there had been more of an explicit comparison
between the demand curve changes and the budget line changes. The reader was left to conclude which
were similar and which were different. Section b) was a weaker section and although marginal utility was
discussed the answer did not really explain the principle of equi-marginal utility and its link to a demand
curve.

Mark awarded = 16 out of 25
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Examiner comment

This candidate gave a descriptive answer which did not contain any diagrams. In section a) the description
of the change in the demand line with respect to a price change was reasonable but there was no real
explanation of the change in a budget line due to a price change of a good. The changes caused by an

increase in income were not explained. In section b) although there was a reference to the fact that
the market demand was an aggregate, there was no explanation of the equi-marginal utility principle of
consumer demand.

Mark awarded = 7 out of 25
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Question 4
(a) Discuss whether it is always advantageous for a firm o grow in size. [12]
{b) Explain the economic theory of profit maximisation for a firm and consider whether firms are

likely to follow this theory in fixing their price and output. [13]

Mark scheme

(a)

(B)

Discussion of possible reasons for growth including large market demand, economies of
scale, possible future profits, with a contrasting comment on reasons why it might not be
advantageous to grow in size; diseconomies of scale, small market demand, specialised
products/services. Allow a wider interpretation which discusses effects on consumers and in

the economy. [12]
L4 Fora sound discussion with contrasting explanations. 121
L3 For an accurate explanation but with an emphasis on one side — possibly of economies of

scale only. 78]
L2} Fora general undeveloped explanalion. 6]

L1 For an answer which has some basic cormect facts but includes imelevancies and ermors of
theory [1—4/

Explanation of the theory of profit maximisation. Candidates should then consider not only
whether it is possible to calculate marginal revenue and marginal cost to achieve profit
maximisation but also whether the firm might have alternative aims. Sales maximisation,
behavioural, managerial, satisficing, market share aims might be mentioned. [13])

L4 Fora reasoned discussion and cleany structured answer with & conclusion 5=13]

L3 For a fair discussion but undeveloped answer menfioning either only one pard of the
question ar both parts but only Iimited mention of alternative aims, but still with a conclusion

7-8]
L2 Fora limited but acceptable aftempt to consider the question with very imited development
of either part and no conclusion. [5-6]

L1 For an answer which has sorme basic correct facts but includes irelevancies, Erors of
theory or omissions of analysis will be substantial. [i=4]
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Examiner comment

This candidate gave a good response to section a) which contained an explanation of the advantages of
growth through economies of scale, the disadvantages caused by diseconomies and the undesirability

of some monopolies. Profit maximisation was discussed in section b) but there was also a discussion of
alternative aims of a firm including non-price competition, maximisation of sales, increasing market share,
cross-subsidisation, satisficing, all of which might need to be balanced against the desire to gain maximum
returns for shareholders.

Mark awarded = 19 out of 25
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Examiner comment

This candidate gave a reasonable answer which could have been improved in section a) if there had been
further development of economies of scale and/or of the reasons why it might be advantageous for small
firms to exist in their own right, rather than concentrating on the lack of managerial control as a firm seeks
to grown. An improvement could have been achieved in section b) if there had been further discussion on
the alternative policies that a firm might use. Mention was made of contestable markets and predatory
pricing but the answer could have been developed with a mention of sales maximisation, behavioural aims
or satisficing.

Mark awarded = 15 out of 25
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Examiner comment

This candidate began the answer to part a) by explaining profit maximising in perfect competition and only
briefly mentioned diseconomies of scale. Some of this information was repeated for section b). The diagram
in section b) lacked the correct labels and although there was a brief mention of oligopoly there was no real
explanation of the theory of profit maximisation and no discussion of alternative aims which a firm might
follow.

Mark awarded = 8 out of 25

Question b5
In imperect competition, labour markets can lead to worker exploitation in ferms of the wage rates
they receive compared with wage rates in perfect competition. Discuss this opinion. [25]

Mark scheme

Candidates should explain the aconomic theory of wage detarmination (marginal revenue
product) and compare the situation in perfect and imperfect competition. The theory indicates
that wages are lower in an imperfect labour market espacially if there is monopsony. The axtant
of the reduction varies depending on whether the labour market is conzidered with a perfect or
imperfact product market. However, the comparative reduction in wage rates may be comected,
at l=ast in part, by the strength of unions or by government legislation, [25]

L4 For a thorough explanation of the analysis of wage determinalfion with a clear companson of
the two markels and a comment on frade unions andfor govemment policy. [18-25]
{14=17 for demand and supply only with institufions! factors andfor government policy)

L3 Fora compelent explanation of the two markets but with a limited discussion and application.

{10=13 for demand and suppily) [14=17]
L2 For & cormect but undeveloped explanalion with only brief application [10=13]
(6-9 for demeand and supply)
LT For an answer which containg inaccuracies and only a few comect points [1=8]

{1-5 for demand and supply only)
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Examiner comment

This candidate gave a very clear explanation of the determination of wages in perfect competition through
the market demand and supply. This analysis was then contrasted with that which applies to imperfect
competition. A discussion of the influence and power of a monopsonist, a trade union and a minimum wage
determined by a government then followed. A concluding paragraph drew attention to the difference that
may occur between perfect and imperfect markets when trade unions and minimum wage regulations exist.

Mark awarded = 21 out of 25
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Examiner comment

This candidate gave an explanation of the analysis involving marginal revenue product theory but with less
development than is required for a very good answer. For example, the candidate did not clearly indicate
how the wage which was used by a firm in perfect competition was determined by the demand and supply
in the market.

Mark awarded = 17 out of 25
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Examiner comment

This candidate gave a descriptive answer. The diagrams were not clearly labelled and there was confusion
between perfect and imperfect competition. There was only passing reference to marginal revenue
productivity, the analysis of which was omitted, no reference to trade unions nor to government intervention
in the form of minimum wage legislation or regulation.

Mark awarded = 10 out of 25

Question 6

(a) Anincrease ininvestment will raise national income but an increase in the desire by consumers
1o save will reduce national Income,

Explain why this is the case. [12]

(b) To increase national income, interest rates should be lowered; indsed lowering interest rates
is the only policy available to increase national income,

Discuss whether you support this opinion. [13]

Mark scheme

{a) Candidates should explain the different effects of an injection of investment and a withdrawal
through saving by use of the multiplier process. Possible use of ‘paradox’ of thrift idea.  [12]

L4 For a sound explanation with good application and a ciear understanding of the principles

irrvolved. 12
L3 For an accurafe expianation of the mulfipler but with 8 more limited contrast of the
difference befween the invesiment and sawving. [7=8]
L2 Fora general explanation probably in descriptive form. (56

[Maximum L2 if thare is no mantion of the multiplier]
L1 Foran answer which has some basic cofract facts bul ncludes Irelevancios and afrors of
theory [1=4]

(b} Candidates should analyse how lowering interest rates might help increase national income

through increased investment or increased spending and then discuss whether lowering
intarast rates is the only policy available. [13]

L4 Fora sound discussion with good explanation of the analysis of interest rate changes and &
consideration of allermnative fiscal measuwres with a conclusion fa-13]

L3 For a competent comment buf with imited development of the analysis or undeveloped
alternalive policies and a weaker conclusion, 78]

L For a brief explanation and with & weak discussion of inferest rales or weak allernative
policy measures with no conclusion. 5-6]

L1 For an answer which has some basic cormect facts but includes imelevancies. Ermors of
theory or omissions of analysis will be substantial [i=4]

Cambridge International AS and A Level Economics 9708



Paper 4

Example candidate response

ba) |~ Consunphun and inveshaty are o i,.idyaf conpuasols v peosorng the oolien) |

inEame .,P O Eeandmif, T}u_g_]u:-a l:nmpw.u -:lrtmd‘_g‘c 'Hu HE%_E EFnﬂ hare g£

9N ecams and I:ﬂﬁ':lhkbhn‘ll"- 4:- 'Fhe qmcﬁ damuh I:rr'uJ t:* EE{}F} T1-|q crm'l.::-f -“:.w mE

n Eomad

_gghnm\ s EnbN e Jg ﬁ Ell‘ﬂﬁ-t i uﬂ,ﬁk Eﬁ.Fmi'zhﬂ “_'Llﬁ =10 h Fmaggnln-u*lth'Fhmln
AR = C1T+ G+ CX-m)

whee  (ig ::qu.u.n,éu_fI 14 'umﬂ!gak‘ Gis S:mnm?ni.q)mr]'-nq A s i"ffﬂtﬁﬂ.ﬂﬂ- Mz |

:IﬂFurJt!-.

I'l.|"'Jr'! Coim S.Lmu jrlll'\lll- tll'"lﬂ.ﬂﬂﬁ'.E iy nhjrun.g 1 fain dﬂ ﬁ s} E!EJ:I]II]JG c!rn..-.-'nq
(]_._ﬁg:lmam. vell as l[‘l-L‘ :L_r-.ﬂ e rnul!ﬁﬁ:_nt Iﬁﬂe:}qt Tnvestments are E‘m i

T g my 0 a3 EE"l‘EuI’.‘I EPJH!I S0 -_“n:[' ‘H‘nf Lirm‘j' wl:-ull:i 1D= ﬂbli'_l:n prﬁum&w]?i
= unﬁ. Sefwvices MMJ;-E Tf:"r ﬂgrﬁﬁ" '{"-'-1 m-m;]s 1 a [:_H-nt l-nn:j. ']ha ||.'.|-..-1
a 'ﬁtc}:rﬂ ot Hﬁn* Pfakl'ucll'm 11 CrenTe Inﬂi-]'rﬁ-n‘h £Ongh E

huﬁuuq.r-_; n
E gné !Ed.’dd |nuﬂ-mi'l Hﬁ-—-_- L# ||:|""£Elh ok :_.Eun“u -Lrtd 1M

\'ﬂ]ulﬂ! Sh H‘H -::lrlnl'n:lq ﬁ in |nw5+|'r15r~+i 'l.-'-.ln..-__gl. Coyse -H’hz ﬂ%—rﬂ;],e_ E:-pﬁ-nl;i |;uft '::-"I.E} CLty e

b shflupuods - g
hs 0 —

*;;P-fi ekt In Hhe diogmm_annweass s
/__ il r:r Cevcrer) invrstmanty l.--'r.'l:ﬂl couse the AE curvp |
/ - b bl fom AE, b AE, As a resully |
L.IT | / nehonal jneoms weuld H“WM_‘L
. // ﬂ _ e can note dhat dre inereuw wn Y

. ~. &Wﬂ&
h 7 EELE‘: 1o £y E‘l'n-t-t'; v ﬂm“ d'“""‘l‘ i h

_%%Lﬁtg&dﬁdﬁ_bmf :::Irn:nq;g [1a] I'Iq-]-n‘l-n_g-{ inLame This ean he =
_Mbq aY2 kapb Joe kis -'rhemuﬂ#,; and kz1,

J: 105 + MFp 4 HET

P 5 'pﬂ: mgrf:mh F FE % b Soye  MPM 2 i quq'nu] prepen
HFT 1% "”'I_%_[LQJ_PP&QI 'Ih' 'h':ﬂ. T}Hﬂghrl Iy Lﬂﬂﬁl'ﬁal

a 'lﬁmr M*ﬂtmm_m.ju.mﬂ <L

Cambridge International AS and A Level Economics 9708 131



Paper 4

132

On Hhe ather hun;‘l‘ Qn incrtots in Sonifgs wa...lﬂ Couse nqlimgl| IfEome l'h dﬂlﬁﬁ‘!

Ts undw_n'hlnﬂl 'H'I. 3_ Wt ['nu'i*‘ nuhjﬁj{ Eulré_:a -|' Lom S prd It
Mmm_wr&a neecaze (MPS+MPC=1) A S:g:nﬂrﬂ

CABS umers (o MPE L macgingk ; CORTU E ran Sumecs +§

_dg:rea'si, T:h'li CQuges l‘lh'l ﬂlmﬁliﬂn+ IlISJquE n-{: Jrht JELE [u{up_‘r‘h become more -‘ihg,uﬁw S0 g

the MPC W_Fiimﬁ fhe EF]aderi the AL corve,

M DK

Aé__(nﬁ:-tﬂ,mw \Whan msmﬁw Sde eoses lie AE

" _|:|'I-r -'.-'Il
AT @y corva_would swil} foen AE. L BE,
S dricaicicd e This pau ¥ e Soak ng.jhnnu\

A -‘-"-‘-'-.-.-.-- ; 'Ip-ff—; 'I'-.lﬂ-'l.il.lll J‘“m ‘pf.rp. Yi_jﬂ‘f ﬂq:;ﬁ

o FED we_musl nebe Ahak Jee m.il,,_ﬁ_” plgd dhes

D]ﬂ‘-'- 1.Jn;_n Jﬂn I'hquﬂvn:-‘. [ Jrl'"'- .'.Jm-u-tam Ta
¥ y.

|
! M'lhuimll A 8 BT {.'1”]"'5 1% 'Eﬂ:l:;.-.tuﬂn:'[&q q.-rqer +‘|‘qh

J||m &ELL-—E..:E 1] %Lﬂ Exmné Ii-lﬂ (e I‘-.'Ej

= |Dﬂgr Clh nthe na Ln.u'l ihcamg -H:nﬂg- Hﬂ'nm g [ully
LH:I_AIDF’.HDLE?LR“ b corhoct or %.imti dhe cconomy Using Jpe E#?clri i‘h!m«lhf_'l:r_
oot aeenisans, Huweiar | Moed &

C_'rl: epsily n'u;jmnpl i r‘EnHu e Hﬂtrmﬂ Hiert 15 g Dnss'bH'q crl‘ 'H'Rmulllaphr

value i \ﬁ'ﬂ thon one I'ﬁﬂlk-’.n:??i icigg mﬂ“.; gat Thn-—tﬂ-f A r‘tﬂtar:'h must 'Iu doria |

LEEE ?n!{clur 'l'h r;:ﬁ‘mu{f [ H‘éﬁtmnﬁ, the ecnomy con ll;uz f."'n:ﬂnlltl out.
I O E.-'L.I'_r

Cambridge International AS and A Level Economics 9708



Paper 4

Eh}] hh{ﬂnﬁ.mn tmnnnujrs E‘ITE_;-_;, upm Jrhq_ ,m‘F_r:'mnm_ .3-!: i AR, OCn i son
1n]htrm1‘r rales o crucin n-l-_'gﬂ miﬁ%mﬁll s well o3 e gogds market as ;
iy
— itlmp_mml- Lhe mensu SLPFL.: o an Blonemy af well os —ll'llnq nhgmﬁ ﬁE 'mgggi:m:ul}
n al bl o th-:ﬁﬂﬂ p:_ghu_g— mh:.mmtm nakicng] income. There hove bean
ﬂﬂ:pm-rnk about '-'Ir‘:ﬁjtf“ mnh|'l‘.n$+h; ‘mhl_e;\_\mk is 'H'tz Lﬂsjl‘ Hﬂ:{}% OB gg

g

—— ”\_Q EH_!:L g]; |uunhnﬂ the indsert mles b inccence nakonal income ey be
; |

he

__.La_“_l.!licﬂﬂi'ﬁ Jl*h_zmam hﬁ.ﬁ_b_,ﬁuma_%_*‘-‘_rl* El'h- n"z 'H"ae Inanecy sr.uﬂ&

Lurve Cau,s_nq the n-|-nzrn'§-} rafe -!g. dgr.ﬂ:ﬂ&_

IIIl I“I“I il mfﬂww'&‘u | e fom S
\ U

augm g r:ajfr-]-t CrtGSE =

chani In a mar kef

-1 Jhl-.—:s#rq{-v.s e l]rw I'I"n»s!l- -.-rnﬁnr-hn‘il' hl_.;hr lru.-PImi;'ll"ﬁ :.nqt!l'mtn}‘i.Tll"ﬁ!l 13

].r.ﬁ, \nesnhve 'L-I' E\flh!.. b ]Dnmur ay | ald 'hﬂml_ia peu E;w_L pare. B Balsia

hi’.ﬂ.ld.'il [':"imi Hﬂnﬁl‘*""‘l 'Ih 1T i'i:'l} '-Hw-ll-ﬂl- “'WI'-II e 1'5*111 ﬂmn.u.n‘_L] nE ﬂ;ﬁ;@hl ﬂ‘nﬂ anlﬁk ﬂud
‘Il"ﬂ \Jgfﬂw!ilgast ﬂuﬁéa 'l:l\'hh L‘fﬂh{, I£ H’g h.jftrﬂﬂ' m-k 1--.Ii""l. 'H'Llrt wuuﬁé hg

lr.-'l-trt'air ke wpﬂ;‘__m?_}_._mu 2nTs Ihu. ima

A In the dagram, MBL 15 bhe n'h:r-ﬁ gm 1
\ When in#ﬂim&@zm_nmf e

i \ - .:|.|: ingﬁmmﬁ fng& ngf& Whertage Eﬁm -In T I. o5
f ! \\"\{ fims "I'G'nﬂj. b nvest mare

T““%’fmab_m_\er_ﬂ_%ﬂﬁ_@w Ko ‘mcrease in inveshmats
weud cuge an hw_%ﬁdmpnmﬁ_&;ﬂm_m&w_L.

Cambridge International AS and A Level Economics 9708

133



Paper 4

‘gi,%;]‘_‘ ":hwt ikimﬂti:i rcn:ie i Creale n!:l‘hnﬂ.gll- i Eaie
E_ -

'IH; - L 4 okl ¥ T Yre dfﬂﬂum = Hllnqn. i v.::;ﬁ-rnmh i Crie
= / o 14;-"“:,‘-_..{-'-%\} ﬂw.{urt ﬁnulé« inCrfose Lﬁlfﬂ ISIIE'.--II
/ #I:-JI-LE‘I This Hﬁul&._ rq_gEIiJ['-.p. & gig‘;hmﬁjﬂq
:-F"J'T lome; increas: jong| incoma [ Ve ag |
g o bl oulbghec elfed,
Y% 7, v

Iﬁ':l"-i‘& 4 'H‘ﬂ- Tﬂil‘:nl;tﬁ -nnrl }n']'Er!i"lF rg-l-EE 'n-'nuh!( ife reo e nuh@n\ sficame J -Q.Ni

alse F@I‘M-LE %'A_MW wever, a reduhon in indeect cales maalse resyltin infloten

Eh—H'--s is I'D'i'.r:nu'.-,w. Jr'l'llh' : Ié'. i T 1 L
sl supply shullng
)
2. 3
\.H 1 In —'I"#-.a_ ;%g_;_\.ﬁm_%%gk_h\:nd NCreoge o Qﬁ-m
: ) AD 'Ho M" *:l',f 'f'll‘tf"‘f Dbr‘-ll'i'»& H‘u ﬂal‘-nmll inbame
A I \_,/ \ increases '['nrn }".i'j" bul' ¥ s lgve

| k“\ :‘ﬂr“ Nt reoorg I:mf-. P b E : [E‘i Eﬁnﬁh mJHn]tim I$ ‘“11
™ AP, la et o lha;p-.n e e lLJ:-n.:n. fun ]I'l"ﬁn'_ Cm.-'l-:'l hqlhﬂffq ..J}L%

! o o sl suply s Shgnk

EQ!-'A'E *]hﬁ'l'l' ‘IIL“'U -;Jc.'lb_ﬁ_n .:[: ”‘ﬂi“f-'"q 'IhJ!E'-.—L'r]' Fn-ll-u -...-ml-l!‘.l h: -.ntwr.:,]r-uq L-{: -'rlhq'.

j_ﬂru_iémi_gfgwhuﬂ The lqu,é%ﬁr_m:_w&g The demand 55 m L

) r:.-eggum Hhe e S.'IJW'I-.: w:ul:l n_gsc cowse the mlﬁﬂ-‘ﬂ' rate
4‘3 d@g Tim |il.'t|.-|'| i 'l'rn C r'-_rhq 'hrlﬂi .Q.E 5111[; _El.m;:-lln (k] Fﬂ_‘llﬁlmt Aiﬂ.ﬁh_r_‘-

ETE! Ln%-.? Emig Wil iﬂﬁbﬁ AL s ::!% o Wfﬂ_ﬂn Such oz 1he Cl!ELﬂ%E]—__

LE
— N

i Mi, Ms, The ﬂLﬂﬂrﬂ"‘- S hows 'I"l'l m ,ri‘mqql'n 'II"[‘tMﬁgEﬂ [ —
| \ ﬁu% has Il::e:m mr_rnq?tull Em b, 4 ™ 1 dhe mleesh

II\ rote cemging  pnchanged ot r. Tnvestmenh would nat
\_ Inetass cng -rug}.'_m:{)mtmu wouldh nat  o:fher. Ly |8

G 9)

134 Cambridge International AS and A Level Economics 9708

T

]




T_r. uncluﬂrﬂn .-_;..l]rh:.uq'ln luwmnq Jr"rll. m-'lre-ﬂlr r-;:a-'l-! '& it an E‘mtlw-:a [11:1 tﬁ ﬁ;

W a0 @ Cohamly -!L i nc.JI -th an i Pa].rgf Q-.fﬁ'-':g'l:lll 1N Eréa e -IHnnu]. Inesme .
! nY

iﬂi__j:ﬁ.ﬂull F || cimy %_.n.'.!h a5 I"“‘End'-'"-‘-ﬁlil 'l'l.‘.lfl" I'IH'1"EE If:lfuﬂh I'i"-"-l"‘Er.‘uQ:nl:-:r:I E‘l..u.-:grr-rh?ﬂi ".i'plzncll r"l'[ Sy

hilp ocpesse P tohaep! .ntgpﬂ a5 well as EHPPl'-: sde Dn:-!hms ':.vt"'-aﬂ '|"ht E'-:-a:'nn Iyt

Ao cute ]r_-.;yhg |qfﬂ'5 [ Fgl.; iy on jnpeeooe ggLung:I atf:mmt '.-'-*Jrl'f'lmu#
iud 'P '-rhlf qnﬂﬂ'fﬂmﬁn‘{' 'S-ll'ﬁnﬂld C‘qrﬂ-‘.‘u“q il e O [:u l,{H r_rrd ral § J.Fr lh

e_prm_h__nn E'-'-nriqr-u L-q{'nre (i ||2-I'I'I-C2h-||'|p_|:r -H"i‘.‘ll' p,ﬂ ':“-'I'

Examiner comment

This candidate gave a clear and reasoned account of the process of the multiplier in section a) with a
conclusion on how an increase in investment or an increase in savings might affect the level of national
income. There was a good account in section b) of the link between a change in interest rates and a change
in investment. The weakness of the answer in section b) was that although the candidate began the final
paragraph with the words ‘in conclusion’, the paragraph was really a very brief list of possible alternative
policies to the use of interest rates. No development of these policies was given. The candidate did not,
therefore, develop the answer to deal with the second part of the quotation in the question nor did the
candidate draw a conclusion about the argument presented in the question. Overall, however, this was still a
good answer.

Mark awarded = 18 out of 25
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Examiner comment

This candidate gave a correct response to both sections of the question. The weakness of the answer
was not that it was incorrect but that it lacked development and discussion. Section a) could have given a
fuller explanation of the multiplier process and section b) could have dealt more with alternative policies to
interest rate changes.

Mark awarded = 15 out of 25

Cambridge International AS and A Level Economics 9708

LEaye
Hlank

139



Paper 4

140

Question 7

(a) As an economy develops, the relative importance of different sectors of production changes.
Explain, with examples, why the pattern of employment might change as an economy
develops. [12]

(b) Discuss whether increases in economic growth are necessarily beneficial 1o an economy.[13]

Mark scheme

[a) The usual divizion of production is info primary, secondary and tertiary sectors. Developing
economies move from a dependence on the agricultural sector through industrialisation.
Along with this there is a growth in the service sector — industries relying on IT, call centras,
tourism. The changes reflect changes in demand, income, urbanisation, govermment policy,
comparative advantage and competitiveness, [12]

L4 For a clear explanation of why the relative importance of the productive seciors of the
economy might change with good ilustration or examples [9-12]

L3 Foraless developed explanafion with fewer examples =8l

L2 For & move general deschplfive account with lack of comynent on the causes of the
change and with few examples [5-6]

L1 For an answer which has some basic comec! facfs but includes irelevancies. Emors of
theory or omissions of analysis will be subsfantial j1-4]

(b) Economic growth involves greater production measured by changas in GDF/GNP. This could
causa an increase in the standard of living, improved health, education and amployrmant
opportunities. There may be disadvantages. Poor working conditions, the growth of
externalities, the carsless deplebion of resources, Therea may also still be guestions of
inequality in the distribution of income or whather the increasad GDP i spent on things
which might not give direct benefit e.g. military research. [13]

L4 For a discussion of the overall effect of growth on development preseniing both positive
and negative aspects with a conclusion. [9=13]

L3 For an analysis of the contribution of growth to developmant but with a concentration on
either the positive or the negative aspects with a conclusion. [r=ai

L2 Fora more descriptive account without much evaluation and without a conclusion.  [5=8]

L1 For an ansiver which has some basle corrac! facts but Includes irrelovancias, Ermovs of
theory or omissions of analysis will be subsfantial [1-4]
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Examiner comment

This candidate gave a clear explanation in section a) of the differing importance of the industrial sectors as
an economy develops and consumers’ expenditure and job aspirations change. In section b) the candidate
gave a well-structured answer. It began with the beneficial changes caused by economic growth but this
was balanced by a consideration of the drawbacks of economic growth in terms of pollution, changes in
income distribution and changes in health, and possible discontent in the population because the economic
growth had been fuelled by the production of capital goods which the population did not use.

Mark awarded = 19 out of 25
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Examiner comment

This candidate referred to the change in the importance of the proportion of people employed in different
industrial sectors in section a) and considered some of the possible advantages and drawbacks of economic
growth in section b). The weakness of the answer was that both sections, although correct, lacked
development with either further explanation or discussion.

Mark awarded = 14 out of 25
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Examiner comment

This candidate gave a relatively undeveloped answer to section a) which dealt with structural and cyclical
unemployment. Although mention was made of a shift between sectors in the industrial revolution in Great
Britain the idea of a change in the relative importance of different sectors as a country develops was not
elaborated. The answer to section b) had a good structure to it; both the advantages and disadvantages

of economic growth were mentioned. The weakness of the answer was that these changes were not
developed nor discussed at any length. This was a pity as there was a clear attempt to balance one side of
the argument about economic growth against the other.

Mark awarded = 11 out of 25
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